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=LA

S?ﬁ;gf{%gﬂ.% A 2Y(EH) (crl:as)
A S2A(SAH) - HEAY - BHES Of] &K I EA Hus2
S EEEEEE 73,500 88,500 A 15,000

201 B2 73,500 88,500 A 15,000
01 AFR2r2lH| 47,400 62,400 A 15,000
oE2ESH = 0 5,000 A5,000
om=H| 44,000 54,000 £10,000
HHSAAH(ZHALAN) 3,667,384 3,601,905 65,479
o121 3,516,179 3,415,549 100,630
Z22 012y X 3,516,179 3,415,549 100,630
101 01248 2,423,039 2,335,529 87,510
02 g 2,423,039 2,335,529 87,510
OpJ=-Ea=: 173,760 163,680 10,080
CEEEERSS: 133,200 129,600 3,600
0S4+AR+Y 183,480 174,840 8,640
CEN =TS 1,682,327 1,617,137 65,190

203 A2 Y| 67,680 61,520 6, 160
01 JI22YARETY| 11,360 11,200 160
OME 3,200 4,000 A800
OOHH ME{ 5,760 7,200 A 1,440
OJIR2Y AP EFH|(LE, ALHMEAIA) 2,400 0 2,400

04 BENSYYARETY| 48,840 42,840 6,000
ORN2Y AR EFH|(LE, ALHMEAIA) 6,000 0 6,000

204 X4 AY| 1,025,460 1,018,500 6,960
01 ZMI@isA| 20,400 18,000 2,400
OXMZ HREZH|(YE, ALHMIE 1K) 2,400 0 2,400

02 XZLZH| 328,860 321,300 7,560
CEEEESTCEESD 7,560 0 7,560

03 SHYPLsa=Y| 676,200 679,200 ~3,000
O3 HHAARYY B2 0 3,000 A3,000
J|=2H| 151,205 186,356 135,151
SN2 J|=2A| 95, 145 122,336 27,191
201 QB2 64,762 79,532 14,770
01 AFR22lH| 59,079 73,849 14,770
oORM2Y AR 59,079 73,849 A14,770

202 OfH| 24,883 31,104 76,221
01 =2Uj0ib] 24,883 31,104 16,221
ORM2Y 2UH0I| 24,883 31,104 16,221

405 XtoHE S| 5,500 11,700 16,200
01 KMUSEH =S 5,500 11,700 £6,200
ORMSYE HHAIRI|I| 2| 0 6,200 ~6,200

OF K= A 0 5,000 A5,000
OATHSEME) 0 1,200 A 1,200
SRA 2 56,060 64,020 7,960
|201 2Bre %] 56,060 64,020 AT7,960
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